
Name: LösungsschlüsselSubtracting Decimals

Mathe www.CommonCoreSheets.de
1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0

Antworten

1. 155,177

2. 18,2

3. 47,7

4. 14,436

5. 14,4

6. 43,243

7. 17,267

8. 42,19

9. 46,005

10. 70,18

11. 7,473

12. 55,72

Löse jede Aufgabe.

1) 88,48 + 66,697 = 155,177

2) 16,30 + 1,9 = 18,2

3) 49,8 - 2,1 = 47,7

4) 23,24 - 8,804 = 14,436

5) 21,1 - 6,7 = 14,4

6) 41,898 + 1,345 = 43,243

7) 23,128 - 5,861 = 17,267

8) 90,01 - 47,82 = 42,19

9) 33,785 + 12,22 = 46,005

10) 41,2 + 28,98 = 70,18

11) 14,825 - 7,352 = 7,473

12) 39,9 + 15,82 = 55,72
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Geändert

Löse jede Aufgabe.

47,7 155,177 43,243 14,4

46,005 14,436 18,2 42,19

70,18 17,267

1) 88,48 + 66,697 = 155,177

2) 16,30 + 1,9 = 18,2

3) 49,8 - 2,1 = 47,7

4) 23,24 - 8,804 = 14,436

5) 21,1 - 6,7 = 14,4

6) 41,898 + 1,345 = 43,243

7) 23,128 - 5,861 = 17,267

8) 90,01 - 47,82 = 42,19

9) 33,785 + 12,22 = 46,005

10) 41,2 + 28,98 = 70,18
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2. 18,2

3. 47,7

4. 14,436
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